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INSTRUCTIONS 
 

1. Read each question carefully. 
 

2. Answer the questions on the separate answer sheet provided. DO NOT write your answers on the 

question paper. 
 

3. There are 100 answer numbers on the answer sheet. Use answer numbers 1 to 50 only. 
 

4. In each question, there are four choices A, B, C, D. Choose ONE. On the answer grid, black 

out the circle for your choice with a pencil as shown below. 

 

 

 

 

 

 

 

 

 

 

5. If you want to change your answer, ERASE the first answer completely with a rubber, before 

blacking out a new circle. 
 

6. DO NOT write anything in the answer grid. The computer only records what is in the circles. 
 

7. The marks obtained on the 50 MCQs will be equated to the total marks of 75 for the theory 

examination results. 
 

8. You may use a simple calculator if you wish. 

Candidate’s Signature 
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Use the given information to answer Q.1 and Q.2. 

It is given that  3,2,1,0M  and  5,4,3,1N . 

1. The set NM   is equal to   

A.  .0  

B.  .2,0  
C.   .5,4  
D.   .3,1  

2. The set MN  is equal to  

A.   .3,1  

B.   .5,4,2,0  

C.   .5,4,3,2,1,0  

D.   .5,4,3,3,2,1,1,0  

3. For the Cartesian product             3,7,,7,3,4,,4,3,1,,1 mmmQP  , the number of 

elements in set Q is 

A.  6  

B.  5 

C.  3 

D.  2 

Use the given information to answer Q.4 and Q.5.  

A mapping from set X to set Y is given in the diagram.  

4. The given mapping shows a/ an 

A. into function only. 

B. one-one function only.

 C. one-one and into function. 

D. one-one and onto function. 

5. If the element e is removed from the set Y, then the given mapping will become a/ an  

A. onto function only.  

B. one-one function only. 

C. one-one and into function. 

D. one-one and onto function. 

  

c 

e 

a 

b d 

X Y 
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6. If A = {1, 2, 3} and 5}, 4, 3, 2, {1,BA  then the possible set(s) B will be  

I. {3, 4, 5}. 

II. {1, 3, 5}. 

III. {2, 4, 5}. 

 

A.  I only  

B.  II only  

C.  I and III 

D.  II and III 

7. Consider two sets A = {2, 3, 4} and B = {a, b}. The binary relation {(2, b), (3, b), (4, b)} is  

A. not a function. 

B. an into function.  

C. an onto function. 

D. an one-one function. 

8. If A = {a, b} and B = {10, 20}, then which of the following option(s) is/ are binary relation 

from A to B? 

I. {(a, 10), (b, 20)} 

II. {(10, a), (20, b)} 

III. {(a, 20)} 

IV. {(10, b)} 

A. I only 

B. II only  

C. I and III 

D. II and IV 

9. If a universal set is defined as U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10} and E is the set of even numbers, 

then 
CE is  

A. .  

B. {1, 3, 5, 7, 9}. 

C. {2, 4, 6, 8, 10}. 

D. {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}. 

10. If a number 0.0101 can also be expressed as 
p1001.1  , then the value of p is equal to 

A. – 2 

B. – 1 

C. 1 

D. 2 

11. On converting 001.010
3



 into the logarithmic form nm 10log , the value of m will be 

A. – 3  

B. 0.001 

C. 1 

D. 10 
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12. The value of 







2

1
log

x
x  is equal to 

A. –1 

B. 1 

C. 2 

D. –2 

13. In a single logarithm, aba loglog3log 2   can be written as 

A. .
3

3
log 









b

a
  

B. .log3 








b

a
  

C.  .log
3

2













 

b

aa
 

D.  ).3log( 2 aba   

14. If 
16

1
2 x , then the value of x is 

A. 4   

B. 
4

1
   

C. 
4

1
 

D. 4 

15. On simplification, 
yx

xy




0

0

 is equal to 

A.   

B.  

C. 1 

D. 0 

  

y

x

x

y
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16. If 2 ab and   1
2

1
 ab , then the value of 22 ab   is equal to 

A.  1 

B.  4 

C. 
2

1
 

D. 
4

1
 

17. The value of   2442   is equal to 

A. 24  

B. 64   

C. 26  

D. 66   

18. The value of  
3

2

1








 xa , when xa 1 , is equal to 

A. 
6

1
 

B. 
8

1
 

C. 
2

3
 

D. 
8

3
 

19. One of the examples of polynomial expression is 

A. 55 x   

B. 643 3

2

3  xx   

C. 323 23  xx  

D. 3
3

4
5 23  xx  
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20. On simplification of 

















2

22

1 b

baa
, we get 

A. .
1

2 2















b

a
 

B. .
1

2 2















b

a
 

C. .
1

2















b

a
 

D. .
1

2















b

a
 

21. The value of    22 yxyxyx   at  x = 1 and 1y  is 

A. 2 

B. 4 

C. 5 

D. 6 

22. On complete factorisation, 233 p  is equal to 

A.   .13
2

p   

B.   .33
2

p  

C.   .113 pp   

D.   pp  333 . 

23. The expression 12632  rr  can also be written as 

A.  23r   

B.  23r  

C.   22
63 r  

D.   22
63 r    

24. If a polynomial 133  qxq  is divided by a linear expression, then the remainder is 1. The 

linear expression must be 

A. 1x   
B. 1x  

C. qx   

D. qx     
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25. On factorisation of   12 xx , we get 

A.  .3xx  

B.  .12 xx  

C.   .11  xx  

D.   .12  xx  

26. On complete factorisation of ))(( yxyxyx  , we get 

A.   .yxyx   

B.   .yxyx   

C.   .1 yxyx    

D.   .1 yxyx   

27. On complete factorisation of 1222  xx , we get 

A.   .11  xx  

B.   .11  xx  

C.   .21  xx   

D.   .21  xx  

28. On factorisation of 
3

3 1

b
b  , we get 

A. .
1

1
1

2

2



















b
b

b
b  

B. .
1

1
1

2

2



















b
b

b
b  

C. .
1

1
1

2

2



















b
b

b
b   

D. .
1

1
1

2

2



















b
b

b
b  

29. The polynomial xxax  23
 is divided by 1x  and the remainder is 1. The value of a will be 

A. 3  

B. 1  

C. 1 

D. 3 

  



    
    

  A
nn

ua
l E

xa
mina

tio
ns

 20
21

    
    

    
    

    
    

   f
or

    
    

  T
ea

ch
ing

 &
 L

ea
rn

ing
 on

ly

 

Page 8 of 20 

 

 

  

S2101-0711110 

30. The option which represents one of the zeros of the polynomial 22 23  xxx  is 

A. 1  

B. 0 

C. 2 

D. 3  

31. If  baR  , then the additive inverse of R  is 

A.  .ba  

B.  .ba   

C.  .ba  

D.  .ba    

32. If 









11

00
N , then the transpose of N is 

A. .
10

10








  

B. .
00

11








 

C. .
01

10








 

D. .
10

01









 

Use the given information to answer Q.33, Q.34 and Q.35. 

Given that   






 


0

1
,10 FE  and 










3

4
FG    

33. The order of matrix G
 

A. is 12  

B. is 21  

C. is 22  

 D.  cannot be determined 
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34. The product of matrices E and F, i.e., FE  is 

A. .
1

1












 

B. .
0

0








 

C. .]2[  

D. .]0[  

35. The multiplicative inverse of 
2E  

A. is  .10   

B. is .
1

0








 

C. is .
10

10








 

D. does not exist. 

36. The matrix 

















001

010

100

 is a/ an 

A. unit matrix. 

B. scalar matrix. 

C. square matrix. 

D. diagonal matrix. 

37. If the matrix 






 

bb

aa
is a singular matrix, then the condition will be 

A. 
2

1
ab  

B. 0ab  

C. 
2

1
ab  

D. ba   
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38. If a matrix equation is ,
00

00

10

36
3 

















X  then the matrix X will be 

A. .

3

1
0

12














 

B. .
23

03










 

C. .
43

69












 

D. .

3

1
0

12


















 

39. The matrix form of the given simultaneous linear equations 32  yx and 1y , will be 

A. .
1

3

10

21

























 

y

x
 

B. .
1

3

10

21



























 

y

x
  

C. .
1

3

01

21

























 

y

x
 

D. .
1

3

01

21



























 

y

x
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Use the given information to answer Q.40 and Q.41. 

In the given diagram, EFG  and HIJ  are congruent. 

 

 

 

 

 

 

 

 

40. If yE  , then the value of y 

A. is o66  

B. is o86  

C. is o94  

D. cannot be determined 

41. The sum of the lengths FG and HJ is 

A. 2f  units. 

B. hf  units. 

C. 2h units. 

D. f + h units. 

  

  

I 

F H 

E 

66o 

h units 

28o f units 

G 
J NOT TO SCALE 

y 
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Use the given information to answer Q.42 and Q.43.  

In the given diagram, PQRS is a parallelogram. 

 

 

 

 

 

 

42. If 24k , then the value of r is equal to 

A. 3 

B. 8 

C. 16 

D. 32 

43. The value of SRQ is equal to  

A. 15o 

B. 28o 

C. 43o 

D. 71o 

44. In the given triangle, VW is the longest side and UV is the smallest side.  

 

 

 

 

 

 

 

 

The CORRECT relationship between the angles is 

A.  c > a 

B.  b > a 

C.  a > c 

D.  c > b 

  

U 

82o 

V 
c 

W 

a 

b 

8 units 

(k – r) units 
P Q 

R S 

28o  

43o  

T 
NOT TO SCALE 

NOT TO SCALE 
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NOT TO SCALE 

A 

B 

y cm 

C 

z cm 

P 

R 

x cm z cm 

x cm 

45. For the given triangle ABC, the length of side AB is  

 

 

 

 

 

 

 

 

 

A. x cm. 

B. y cm 

C. yx   cm. 

D. 
2

y
x  cm. 

46. In the correspondence of PQRABC  , If PQAB , QRBC   and RPCA  , then the 

correct relation between the angles will be  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A. .RA   

B. .RB   

C. .QA   

D. .QB   

  

A 

74o 

y cm 

53o 

C B x cm 

NOT TO SCALE 
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47. In the given triangle ABC, DE is parallel to AB. The CORRECT relation between the sides is   

 

 

 

 

 

 

 

A. AC = BC. 

B. AD = DC. 

C. DC = EC. 

D. AC = 2BE.  

48. In the given triangle ABC, the points D, E and F are the midpoints of the sides AC, AB and BC 

respectively. The line segments AF, BD and CE are the   

A. altitudes.  

B. medians. 

C. right bisectors. 

D. angle bisectors. 

 

 

 

 

 

  

C 

D E 
a 

B 2a A 

NOT TO SCALE 

C 

D F 

O 

B A 
E 

NOT TO SCALE 
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NOT TO SCALE 

49. In the given diagram, AB is a line segment and AC = BC. 

  

 

 

 

 

  

 The CORRECT relation of AD, BD and D is   

A. BDAD   and o90D  

B. BDAD   and o90D  

C. BDAD   and o90D  

D. BDAD   and o90D  

50. The CORRECT measures of the sides of a triangle are   

A. 5 cm, 7 cm and 13 cm.  

B. 6 cm, 6 cm and 12 cm. 

C. 7 cm, 7 cm and 10 cm. 

D. 9 cm, 3 cm and 14 cm. 

 

  

B A 

C 

D 
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